

49. If $p = 1$, then $\int_0^1 \frac{dx}{x^p} = \lim_{t \rightarrow 0^+} \int_t^1 \frac{dx}{x} = \lim_{t \rightarrow 0^+} [\ln x]_t^1 = \infty$. Divergent.

If $p \neq 1$, then $\int_0^1 \frac{dx}{x^p} = \lim_{t \rightarrow 0^+} \int_t^1 \frac{dx}{x^p}$ (note that the integral is not improper if $p < 0$)

$$= \lim_{t \rightarrow 0^+} \left[\frac{x^{-p+1}}{-p+1} \right]_t^1 = \lim_{t \rightarrow 0^+} \frac{1}{1-p} \left[1 - \frac{1}{t^{p-1}} \right]$$

If $p > 1$, then $p - 1 > 0$, so $\frac{1}{t^{p-1}} \rightarrow \infty$ as $t \rightarrow 0^+$, and the integral diverges.

If $p < 1$, then $p - 1 < 0$, so $\frac{1}{t^{p-1}} \rightarrow 0$ as $t \rightarrow 0^+$ and $\int_0^1 \frac{dx}{x^p} = \frac{1}{1-p} \left[\lim_{t \rightarrow 0^+} (1 - t^{1-p}) \right] = \frac{1}{1-p}$.

Thus, the integral converges if and only if $p < 1$, and in that case its value is $\frac{1}{1-p}$.

51. (a) $I = \int_{-\infty}^{\infty} x dx = \int_{-\infty}^0 x dx + \int_0^{\infty} x dx$, and

$$\int_0^{\infty} x dx = \lim_{t \rightarrow \infty} \int_0^t x dx = \lim_{t \rightarrow \infty} \left[\frac{1}{2} x^2 \right]_0^t = \lim_{t \rightarrow \infty} \left[\frac{1}{2} t^2 - 0 \right] = \infty, \text{ so } I \text{ is divergent.}$$

(b) $\int_{-t}^t x dx = \left[\frac{1}{2} x^2 \right]_{-t}^t = \frac{1}{2} t^2 - \frac{1}{2} t^2 = 0$, so $\lim_{t \rightarrow \infty} \int_{-t}^t x dx = 0$. Therefore, $\int_{-\infty}^{\infty} x dx \neq \lim_{t \rightarrow \infty} \int_{-t}^t x dx$.

55. $I = \int_0^{\infty} t e^{kt} dt = \lim_{s \rightarrow \infty} \left[\frac{1}{k^2} (kt - 1) e^{kt} \right]_0^s$ (Formula 96, or parts) $= \lim_{s \rightarrow \infty} \left[\left(\frac{1}{k} s e^{ks} - \frac{1}{k^2} e^{ks} \right) - \left(-\frac{1}{k^2} \right) \right]$.

Since $k < 0$ the first two terms approach 0 (you can verify that the first term does so with l'Hospital's Rule), so the limit is equal to $1/k^2$. Thus, $M = -kI = -k(1/k^2) = -1/k = -1/(-0.000121) \approx 8264.5$ years.